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Question 1 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Booklet A (28 x 2 marks)
For each question from 1 to 28, four options are given. One of them is the correct answer.

The table below shows how some living things can be grouped.

Living Things

ST

\Which ane of the following is the most suitable heading for group X7

—=
d

A) fish
v B) fungi
C) bacteria

D) mammals

Question Type: Multiple Choice
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Question 2

syetam.

stomach

A) anus
B) gullet

C) mouth

¥v' D) small intestine

Question Type:
Date Added:

Last Modified:
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Question 3

Randomize Answers:

__JT/-‘H — ? — 1%

What is the missing part in the box above?

Multiple Choice

No

Wed 13th Jan 2021
N/A

25,848,546
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The diagram below shows the order of some organa in a hulmn digestive

[y

large inteatine
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Sudy the classification chast below !
i Life Cycle of Animals |
T _—
[ 4 stages | 3 stages |
Young does ot ' owang Yeoung doss nod
rasamble the resembias ihe resamble the
aduli adul _a:kr!
| | I
A | B | G
Which ane of the following represents A, B and C7
A B C
{1 chicken busttarfy frag
121 Btterily chicken frog
{3 butterfly frag chickan |
{4) frog chicken burttarily
A) 1
v B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 13th Jan 2021
Last Modified: N/A
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Tha diagram shows a painting hanging on a wall.
il
"\
painting
Iron is used to make the nail because iron is ;
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A) shiny

v B) strong

C) flexible

D) waterproof

Question Type: Multiple Choice

Randomize Answers: No
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An object X was atiracted o a magnet. as shown in the figure below.

I"I‘I.':’I-mﬂl
i
[ ]
ohject X
Object X s made of
v' A) iron
B) wood
C) rubber
D) plastic
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,848,562
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Matter is anything that has mass and occupies space.
Which one of the following is not matter?
A) air
v B) light
C) sand

D) water

Question Type: Multiple Choice
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Question 7

Which of the following shows how a parson can see fhe ub@act under the

ligght'? i
| - Direction
| " of light
A)
lamp
object
B) '|

lamp Eéz

object

c)
lamp
object

v D)
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Question 8

In which one of the following will the two magnets move towards each other? $

A) i ;
M S S N
B)
N =
N S
C)
S N
5
M
v D)
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Question 9

v A)

B)

Multiple Choice

No

Wed 13th Jan 2021
N/A

25,848,593
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Liyana wants to measure the temperature of hot water in a beaker.
Which one of the following diagrams shows the correct position of the thermometer when taking the

temperature reading?
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C)

D)
Question Type: Multiple Choice
Randomize Answers: No
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A) light material

B) flexible material

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 11
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Akmal boiled some water in the pot shown below.

plastic handles
U

He is able to hold the pot of boifing water using the plastic handles.
This is because plastic is a -

v" C) poor conductor of heat

D) good conductor of heat

Multiple Choice

No

Wed 13th Jan 2021
N/A
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A)
B)
v C)

D)
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Grace put Animal X, in 2 tank with some waler, leaves and some flies, She

covered the tank with some wire mesh to prevent the flies from fiying sway.
She ptaced a banana for the flies to feed on.

She recorded the amount of [eaves and the number of flies keft in the tank fx

the next & hours as shown in the table belonw

Amount of leaves (in grams) |Mumber of flies
Start B 12 :
After 2 hours 5 fi5
After 4 hours a0 ¢ i
After & hours == 4

What can you conclude about the eating habit of Animal Xy

It eats flies only

It eats leaves only

It eats both flies and leaves

It does not eat both flies and leaves

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 12

Multiple Choice

No

Wed 13th Jan 2021
N/A
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Study the flowchan below, "

Liing Things .

Can & make s own
focd?

Bracke! Fungus

Cioes it have flowers?

Which of the fallowing stalement bost describes P and QY

P o |
{1 P Iz mot & plant. i Qilpﬂm:_ _
{2} P baars fnil. Q1 doas nod bear fruit.
{3 P does not nead sundght, 1 neads aunlight.
) F iz @ man-flowsering plant Q k= & flowering plant
A) 1
B) 2
c) 3
v' D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,848,639
Question 13 Primary 4 Science » Primary 4 Science (Term 4)

Which one of the statements below best describes the human body?

A) Itis made up of one organ system that carries out a single function
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B) Itis made up of one organ system that carries out different functions
v C) ltis made up of many organ systems that carry out different functions

D) Itis made up of many organ systems that carry out the same function

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,848,643
Question 14 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Bala grew some green beans in a cup and placed it near the window. He watered the seedling daily. He
then measured the height of the seedlings every four days.
Which one of the following graphs best represents the height of the seedlings over 16 days?

A)
M
Height :.;%: .-
!"_CF ' :'._:."h'
{cm) [T
=
[ i S
8 12
Number of days
B)
M
. b @
Height S %'}3
B4 ok i
(cm) 0 B B |
-.‘15; ::‘- T ﬁ?‘; _.-ri. .I_ rm 1=
s i s _.,. % B
i %'-'-':Iq Ze i i 50 }
4 8 12 16
Number of days
C)
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.'1.
A
Height
(cm)
12
Mumber of days
v D)
A ¥
-I:,:l'-\.
. S
Height HES
CIm i |
(erm) .
=
, >
MWumber of days
b
Question Type: Multiple Choice
Randomize Answers: No
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The diagram below represants the stages, A, B, C and D, of the life eycle ofa .

special type of butherly.
A - '
10 days 1% oayn
D B
5 days 14 days
c

B represents the stage where the butterly is able fo reproduce,

&b wihich stage would there be & lol of eating and shedding of skin o grow

bigger?
A) A
B) B
C) C
v' D) D

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 13th Jan 2021
Last Modified: N/A

QID#: 25,848,668
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Alaxander set up an experiment on the germination of a seeding. -

—
N ¥
l..
>
l\I\I\..
. = % I
' . : .ﬂ T B
]

? ! : Tore [deys)
MmdmhmﬁmmmmHmm:ﬂamhnaﬁnnhrmﬂ
of Y7

.
Lina Reason
{1 x The soediing makes s own food.
i) X The soediing obtaing it food from the seed leaves.
3 ¥ Tmuhdieammﬁahs?nhﬂi S
{4} Y mmmmmm1mmnﬂm

A) 1
v B) 2
c) 3
D) 4

Question Type:

Date Added:
Last Modified:
QID#:

Question 17

P

Multiple Choice

Randomize Answers: No

Wed 13th Jan 2021
N/A
25,848,677

https://www.classmarker.com/a/tests/test/?test_id=1639581&trk=edittest_inrow_edit

Primary 4 Science » Primary 4 Science (Term 4)

2 pts

15/46


https://www.classmarker.com/a/tests/qb/manage/?test_id=1639581&question_id=25848677
https://www.classmarker.com/a/tests/qb/manage/?test_id=1639581&question_id=25848677&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1639581

8/6/2021

ClassMarker - Manage Test

Johan prapared four set-ups P, O, R and S, a8 shown in the table bedow.

_\rmlhlu

Sat-up P

Q

¥

Murnber of green bean seeds 5

b

10

everyday (cm’)

Aumount of waler added o the seads | 100

100

100

il

Localion where the setup is placed | garden

freazar

. -gardan

garden

Johan selectad the following set-ups for each of the loBowing expenmant.
Wihich one of the folowing selups and aims of the experiment & malched

Alm of Exporimont

{1} | Pand Q

oy e

To find cut I ight is needed for garmination

{2} | and R

Tao find cuf if the number of sesds affects garmination

(d} | P and 8

Ta find out if waber is neaded for germination

{4) | Rand S

Ta find out il watar h-ruud-ud ol g it

A) 1
B) 2
v C) 3

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 18

Multiple Choice

No

Wed 13th Jan 2021
N/A
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Farah sel up an experiment as shown balow o imestgate a property of thresf
strips, K, L and M, wiich were madle of different materials.

beaker of water ——/

- distance betwesn fhe

-1_ highest and kwest
- - points of the strip

sirip
wooden block

She placed the besker on each strip. She then added different amounts of
water indo the beaker urtil the distance betwesan the highest and lowest points

ol the sirlp reached 2 cm.
Sha recoried her results in the table below,
| Amount of Water in Beaker (mi)
i
| K L ]
| 80 40 120
Baszed on the resulis, arrange the materiaks based on thair flexibility, from the*
rmiasi fexible o the least flexble?
A) MK L
B) M, L, K
C) K LM
v'D) L KM
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,848,689
Question 19 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

https://www.classmarker.com/a/tests/test/?test_id=1639581&trk=edittest_inrow_edit 17/46


https://0cm.classmarker.com/6226088_N9298BTB.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1639581&question_id=25848689
https://www.classmarker.com/a/tests/qb/manage/?test_id=1639581&question_id=25848689&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1639581

8/6/2021

13
(4]

A) 1
v B) 2

C) 3
D) 4

QID#:
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Aiman wanted o make a wall panel in his living room. The diagram below is
lihe lanrout plan for his living room.

main
door

(1 |
{2y |

He told s contracter the fallowing condifion:s:

A: the sofa must not be seen cearly from the main door through the panel
B: & person can lan on the panel while silting on the bench

Based on the information given above, which of the following propeies

ehould the panel hawa?
Proparties of Materials to make the Wall Panel |
F ragila Sﬂ'unl,'; Most light | Mo Bght can Enﬁlgm
LA pass s £an paes
| through 'ﬂl'_nuuh_ . thraugh
| . L
' " | = y
1 7
| W

Question Type:
Randomize Answers:
Date Added:

Last Modified:

Question 20

Multiple Choice

No

Wed 13th Jan 2021
N/A
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Dafmian placed a metal container between a torch and & ecreen. Thers was a
heart painted on one side of the container.

— ¥ I

torch metal container SCIEa

He turmne the melal container &l differant anghkes to face the torch. Which of the
following shadows would not be cast on the screenT

v A)
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,848,717
Qu estion 21 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

https://www.classmarker.com/a/tests/test/?test_id=1639581&trk=edittest_inrow_edit 19/46


https://www.classmarker.com/a/tests/qb/manage/?test_id=1639581&question_id=25848717
https://www.classmarker.com/a/tests/qb/manage/?test_id=1639581&question_id=25848717&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1639581

8/6/2021 ClassMarker - Manage Test

The diagram below shows & batance with two objects, A and B hung at both
ends, Cbjecis A and B balance sach other,

. d r—— _.—|_|

A

I

Whan object F is placed divectly balow object B, the balance tited, as
ahown in the diagram below,

E?audm the chearvations in both diagrams, what could be objects B and

Dijoct 8 Objeet F
(1 rag et miag el
(| oyt staa! block
3] glass black atoal Block
{4 alass block magnat
v A) 1
B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,848,723
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drop of ink. He placed one bottle in basin X and the other bottie in basin ¥ as
shown in the diagram below. Basing X and ¥ contain equal amounts of water
al differant temparatunes.

ClassMarker - Manage Test

Which of the following shows the mos! likely resull?

& glass tube which contained a

Question 23

https://www.classmarker.com/a/tests/test/?test_id=1639581&trk=edittest_inrow_edit

Temperature of water [C) -
f— Direction of movemant af
ink
Basin X Basin ¥
[-' } 2“ BhO ———
(2 80 20 — ]
(3) a0 40 Mm—— |
L= - —
A) 1
v B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 13th Jan 2021
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The disgram balow shows a beaker filled with two sutstances, X and ¥,
1 -
———- BEgkar
i, A subatance ¥
A _-,’_"!f':lf.'",'ﬂsr
The beaker was then put on a ramp, 85 shown beiow.
ramp ——
Which states of matter do you think subslances X and ¥ are in?
' X ¥
(1) it solid
(2] sl Bauid -
@) | ~ pas solid
(4) gas bequid
v A) 1
B) 2
c) 3
D) 4

Question Type:

Muiltiple Choice

Randomize Answers: No

Date Added:
Last Modified:
QID#:

Wed 13th Jan 2021

N/A
25,848,734
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Staphania placed a wooden stick on the ground, as shown below, She
measured the langth of the shadow at Sam, 10 am, 2pm and Gpm.

sl oo 108m 2pm - e L
- - . Tt -
z 3 . =
-r"'.lI'."‘h .-""_nln.‘h
B am G pari
shadow

Which of the following graphs bast represents the langth of the shadow
formed by the stick at different times of the day?

Y Length of shadow (cm)

alll

Bam 10am 2pm 6pm

Time of day
B)
Length of shadow (cm)
8am 10am Z2pm Gpm
Time of day
v C)
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Length of shadow (cm)

.

8am 10am Zpm Gpm
Time of day

D)
Length of shadow (cm)
Bam 10am Zpm Gpm
Time of day
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,848,742
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Jessica camied out an expariment as shown below to find cut how the
distance between the light source and an ohject could affect the hiight of its
shadow on a screen.

SEreEn

light source d b

Bhe recorded her results as shown in the table balow.

Distance (d) betwesn the light source and the cbject | 10 |20 | 30 |40
()

Hefight (h) of the shadow cast on the screen (cm) as |21 |18 |10

Based on Jessica’s experiment, the height of the shadow is

A) shorter when the light source is nearer the object
B) unchanged when the light source is nearer the object
C) taller when the light source is further away from the object

v’ D) shorter when the light source is further away from the object

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 13th Jan 2021

Last Modified: N/A

QID#: 25,848,752
Question 26 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Mariah placed an ice cube each on two boards made of diflerent material X
and ¥ as shown balow. Mariah wanled to find out which e cube would take a
longer fime to mel completely.

Which one of the lollowing was changed for har Investigation?
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A) The size of ice cubes
B) The number of ice cubes
v C) The material of the boards

D) The location of the set-ups

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 13th Jan 2021

Last Modified: N/A

QID#: 25,848,758
Question 27 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

A bottle of cold milk was placed in a cup of hot water.

" cup of hot
water bottle of

cold milk

Which of the following statements is true?

A) The cold milk loses heat to the hot water
B) The temperature of the cold milk decreases
v C) The temperature of the hot water decreases

D) The hot water gains heat from the surrounding

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 13th Jan 2021

Last Modified: N/A

QID#: 25,848,765
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Waking pavements that we see on the sireet are often covered with concrete
hiocka with spaces as shown in the diagram beliow.,

Which ona of the following comectly explains why there are spaces batwean
the concrete blocks?

v A) To allow the blocks to expand on hot days
B) To allow the blocks to contract on cold days
C) To allow dirt to be removed easily from the pavement

D) To allow plants to grow in the spaces between the blocks

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 13th Jan 2021

Last Modified: N/A

QID#: 25,848,776
Qu estion 29 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
Booklet B

This section is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it
was designed in such a way that it requires manual assistance.

Study the diagram below.

State the needs of the caterpillar to stay alive.

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,171
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Correctly answered feedback
It needs air, food and water to stay alive.

Incorrectly answered feedback
It needs air, food and water to stay alive.

Question 30 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

The caterpillar become bigger after some time. What is the characteristic of living things shown by the
caterpillar?

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,174

Correctly answered feedback

Living things grow

Incorrectly answered feedback
Living things grow

Qu estion 31 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

The diagram below shows the human digestive system.

A

et

In which part (A, B, C, D'or E) does digestion first takes place?

v A A
B) B
c) C
D) D
E) E
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 13th Jan 2021

Last Modified: N/A

QID#: 25,849,177
Qu estion 32 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

In which part is most digested food absorbed into the bloodstream?

A) A

B) B

C) C

v D) D

E) E
Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,184
Question 33 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

The diagram below shows the stages in the life cycle of a cockroach.

3

Mama stage A

stage A :

Accepted answers:

¥ nymph
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Question Type: Free Text

Date Added: Wed 13th Jan 2021

Last Modified: N/A

QID#: 25,849,190

Question 34 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Which animal has a similar life cycle as the cockroach

v A) grasshopper

B) butterfly

C) mealworm beetle

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 13th Jan 2021

Last Modified: N/A

QID#: 25,849,193

Qu estion 35 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

The diagram below shows a magnifying glass.

Part X is IT'I&I'-‘!;EI of glass because it alows o pass
through so that ?'ta parson can ses the magnified Sbject

Accepted answers:

v light

Question Type: Free Text

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,194
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Question 36
Part Y is made of because Y has to be strong.

Accepted answers:

v metal

Question Type: Free Text

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,198

Primary 4 Science » Primary 4 Science (Term 4)

Question 37

Match the options below:

Clue Match

Al paurs milk from m bettie oo @ table e showe baans, 191

_—

The b of the milk remsins i Qe 0 IS Saps canpes.

Thisshowe thaimf&wen

Points: +1 =0

Alea proae ervme marbles e § Bodio onis @ ble o8 shoem teiesolid

[ e
"-\-\_.-".' N g
rooarihe p |£I-
e T, IR
-..' T LG _.,_ Lalds

Thet drvigin wred oo 0 P msshilod mmain ha ame
Thes shirws S50l R Saible % 8
Points: +1 =0

The ai in the battle is & gas

Points: +1 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,212
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Question 38 Primary 4 Science » Primary 4 Science (Term 4)

Which one of the followings can be compressed

A) milk
B) marble
v C) air

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 13th Jan 2021

Last Modified: N/A
QID#: 25,849,219

Question 39 Primary 4 Science » Primary 4 Science (Term 4)

Cheryl took four slices of bread from the same loal. She added differe
ameunt of water on the four slices of bread, A, B, C and D, She kept ad fi
four slices of bread in a dark room, The resulls are as shown in the piciun
and tabile bedow, ;

Bread A Bread B

a patch of mould an each slice of bread

i Bread | Amount of Water Size of Each Patch of Mould |
| {Number of Droplats) {cm)
A o 0
B 5 1
c 10 3
B 15 B B

Based on the 2el-ups abowve, idantify the condition that has affected he
reproduction of the mouid, [

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,222

Correctly answered feedback

Amount of water
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Incorrectly answered feedback
Amount of water

Question 40 Primary 4 Science » Primary 4 Science (Term 4) Opts

State the relationship between the amount of water and the size of each patch of mould.

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,257

Correctly answered feedback
As the amount of water increased the size of each patch of mould increased.

Incorrectly answered feedback
As the amount of water increased the size of each patch of mould increased.

Question 41 Primary 4 Science » Primary 4 Science (Term 4) 0.5 pts

Choose the correct variables accordingly

Location:

A) changed
v B) kept the same

C) measured

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 13th Jan 2021

Last Modified: N/A

QID#: 25,849,261

Question 42 Primary 4 Science » Primary 4 Science (Term 4) 0.5 pts

Type of bread:

A) changed
v B) kept the same

C) measured

Question Type: Multiple Choice
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Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 43

v" A) changed
B) kept the same

C) measured

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 44

A) changed
B) kept the same

v C) measured

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 45

Amount of water:

No

Wed 13th Jan 2021
N/A

25,849,264

Multiple Choice

No

Wed 13th Jan 2021
N/A

25,849,268

Size of each patch of mould:

Multiple Choice

No

Wed 13th Jan 2021
N/A

25,849,270
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All placed o plant in seb-up X He pul & layer of oil over the waler. He then
rresivsuned this amound of watar lof in the besker at the end of each day,
Afer measuring the amount of waler kaft on Day 10, AB coverad the raots of
the planit completely using a plastc bag as shown below,

sat-up X from Day O to Day 10 sel-up X from Day 11 to Deay 30
The graph bedow shows e result of his expanment.

&0 T=T 1 T I | | | |
- ! : Sl
H - - 1
Amaant |
ol wealer a0 I
bt {mi} ;
m_ &
) - J - d ook 1
] | | |
] T— - |—_'E—_
ﬂ T T T | —— T T 1
B 1 23 458 7T 8 810111213 415 181718 15 20
Mumiber of doys
(a) Basedon the graph sbove, desoribe the changas in the amount of warler kel
in the beaker from Day 1o Day 20, | 2)

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,294

Correctly answered feedback

From Day 1 to Day 10, the amount of water left decreased as the roots of the plant were absorbing
water and mineral salts for the plant. However, from day 10 to day 20, the amount of water left
remained the same because the plastic bag was preventing the roots of the plant from absorbing
water and mineral salts for the plant.

Incorrectly answered feedback

From Day 1 to Day 10, the amount of water left decreased as the roots of the plant were absorbing
water and mineral salts for the plant. However, from day 10 to day 20, the amount of water left
remained the same because the plastic bag was preventing the roots of the plant from absorbing
water and mineral salts for the plant.

Question 46 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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earmiad put anolher axperiment afier Day 20. He covered up the moa
:I::nm;mm pland using & gapor bag in set-up Y. He compan-d sal-ups X
v and Y for some time: 2= shown below.

) Inwhichsel up, X or ¥, will the plant survive langes? Give a mamnf:nymum
choice

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,305

Correctly answered feedback

Set-up Y will survive longer as set-up Y's plant's roots are covered with a paper bag which is not
waterproof. Hence, set-up Y's plant's roots will be able to absorb water and mineral salts for the
plant so set-up Y's plant will survive longer.

Incorrectly answered feedback

Set-up Y will survive longer as set-up Y's plant's roots are covered with a paper bag which is not
waterproof. Hence, set-up Y's plant's roots will be able to absorb water and mineral salts for the
plant so set-up Y's plant will survive longer.

Question 47 Primary 4 Science » Primary 4 Science (Term 4)

Bill wanted o sludy the growth of a meaksomm . He placed a meabyorm
in a box covered with a plastic cover as shown below.

J—— plastic cover

—..m'"

[T LL O E— meabsorm

State two 1hings that Bill should do ko improve: his set-up, 121

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,313
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Correctly answered feedback

1. He should make holes in the plastic cover
2. He should provide the mealworm with food and water

Incorrectly answered feedback

1. He should make holes in the plastic cover
2. He should provide the mealworm with food and water

Qu estion 48 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

His friend told him that he should release the mealworm once it has grown into an adult. Why was it
important to release the mealworm beetle?

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,318

Correctly answered feedback
To allow the beetle to find food and reproduce

Incorrectly answered feedback
To allow the beetle to find food and reproduce

Question 49 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Choose the sources of light

A)

mirror

v B)
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C)
i eyes
v’ D)
lamp

Question Type: Multiple Response
Randomize Answers: No
Grade style: Full points if all answers are correct
Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,328

Qu estion 50 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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Mr Ong walked towards a street lamg al night.
At '.r.rl'ugh position should Mr Ong stand for his shadow to bi the shorest?

A) position A
v B) position B

C) position C

Question Type:

Date Added:
Last Modified:
QID#:

Tick the comeact box below, ) [l
e : -
ket
street lamp
— - - I|-1— > —
MrOnd - posdion A Pasition B Positien C

o

Randomize Answers:

Multiple Choice

No

Wed 13th Jan 2021
Wed 13th Jan 2021
25,849,396

Primary 4 Science » Primary 4 Science (Term 4)

Question 51

Explain how Mr Ong's shadow was formed.

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,400

Correctly answered feedback
Light from the street lamp is blocked by Mr Ong. Hence, his shadow was formed.

Incorrectly answered feedback
Light from the street lamp is blocked by Mr Ong. Hence, his shadow was formed.

Primary 4 Science » Primary 4 Science (Term 4)

Question 52
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Janies used an instrument to measure the termperature of water in a tank.

instrument ——

What is the name of the instrumant?

Accepted answers:

v thermometer

Question Type: Free Text

Date Added: Wed 13th Jan 2021

Last Modified: N/A

QID#: 25,849,406

Qu estion 53 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

What is the temperature of the water in the tank?

C
Accepted answers:
v 24
v 24 degree celcius
Question Type: Free Text
Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,410
Qu estion 54 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Janice heated the tank of water. She then placed a matal rod and a plastic rod
it the tank as shown bedow. Equal amount of wax wers placed on beth rods.

5" wax

boiling water
rod Fioed |
Wihech rod would cause the wax fo mell faster? Expiain your snawer. [2]
Question Type: Essay
Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,421

Correctly answered feedback

The metal rod would cause the wax to melt faster because metal is a good conductor of heat. This
means that the metal rod will gain heat from the boiling water faster than the plastic rod, hence the
metal rod's wax will melt faster than the plastic rod's wax.

Incorrectly answered feedback

The metal rod would cause the wax to melt faster because metal is a good conductor of heat. This
means that the metal rod will gain heat from the boiling water faster than the plastic rod, hence the
metal rod's wax will melt faster than the plastic rod's wax.

Match the options below:

, ! —
Jacky set up an experment as shown below, & pin was slowly pushed a

the ruler towards magned M, Jacky recorded the distance, d. at the p-n!n'lh
where the pin was afiracted to the magneot. He repeated these staps wit

magnets M and 0. .

regnet M pin
rulbar

— g —

Jacky recarded his obserations in thie table below,

Magnet d [em}
ha =
5 5
0 5
Basad on the resulls in tha table, arange the bar magnets (M, N and O)
according to their strength from the weskest to he strongesi [t
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8/6/2021
Clue Match
Weakest M
Medium o}
Strongest N

Question Type: Matching

Grade style: Full points if all answers are correct
Shuffle Mode: Shuffle Matches Only

Date Added: Wed 13th Jan 2021

Last Modified: N/A

QID#: 25,849,428

Question 56 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
What is a possible material that the pin can be made of?
Accepted answers:
v iron
Question Type: Free Text
Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,432
Question 57 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Jacky then hammered the bar magnet M 40 times repeatedly. He then conducted the same experiment
by pushing the pin slowly along the ruler towards the bar magnet M.

Will the distance d be shorter, longer or the same as 4cm?

v' A) shorter
B) longer

C) same as 4cm

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 13th Jan 2021
Last Modified: N/A

QID#: 25,849,443

Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Question 58

https://www.classmarker.com/a/tests/test/?test_id=1639581&trk=edittest_inrow_edit 42/46


https://www.classmarker.com/a/tests/qb/manage/?test_id=1639581&question_id=25849428
https://www.classmarker.com/a/tests/qb/manage/?test_id=1639581&question_id=25849428&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1639581
https://www.classmarker.com/a/tests/qb/manage/?test_id=1639581&question_id=25849432
https://www.classmarker.com/a/tests/qb/manage/?test_id=1639581&question_id=25849432&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1639581
https://www.classmarker.com/a/tests/qb/manage/?test_id=1639581&question_id=25849443
https://www.classmarker.com/a/tests/qb/manage/?test_id=1639581&question_id=25849443&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1639581

8/6/2021 ClassMarker - Manage Test
Explain why.

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,451

Correctly answered feedback

The more you hammer a magnet the weaker it gets. So, if a magnet is hammered 40 times, it will
be much weaker than its original state, hence, distance d will be shorter.

Incorrectly answered feedback

The more you hammer a magnet the weaker it gets. So, if a magnet is hammered 40 times, it will
be much weaker than its original state, hence, distance d will be shorter.

Question 59 Primary 4 Science » Primary 4 Science (Term 4)

Rosalind wanted to find o fhe amounl of bohl which can pass through e
different materials X and Y.

She sel up her experimant as shown in the diagram bolow using material X
and then repaated the experiment willl material v

o

toreh

wield vith sfar
shapa cut out |
shown balow  malerial X

*

She akso chaerved the brightness of the hight palch sean on the Soreen.

[ Materals used =

“imags on while screen

*

Mo material placed

Bright ight patch ssen

Mo lighi paich seen

— m———

Dam light patch seen

Vhat would Rosalind do to meke the image bigger? Tick the correct baxjes)
badow. v (1]

A) Move the torch further from the wood
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v’ B) Move the wood nearer to the torch

C) Move the wood to the screen

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 13th Jan 2021

Last Modified: N/A

QID#: 25,849,460

Qu estion 60 Primary 4 Science » Primary 4 Science (Term 4)

Rosalind changed the torch to increase the brightness of the light. What would happen to the image
formed using material Y?

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,473

Correctly answered feedback
The dim light will become a brighter light

Incorrectly answered feedback
The dim light will become a brighter light

Primary 4 Science » Primary 4 Science (Term 4)

Question 61

Rosalind wanted to wrap a bottle with a material so that the liquid inside cannot be seen. Which of the
material, X or Y, should she use? Give a reason for your choice.

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,490

Correctly answered feedback
There was no image of the star formed on the screen.

Incorrectly answered feedback
There was no image of the star formed on the screen.

Question 62 Primary 4 Science » Primary 4 Science (Term 4)
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Avden put & toy soldier in his submarine with clear sides. Than wene two
hales & and B an the submaring, ¥When he pushad the submaring 'u1t-|:|.a1:rt
of water, the toy soldier floated upwards and bubbles wers sean coming out
from hole &, ,

Bafore putting info the tank After putting Info the tank

soldier hole B

Explain why bubbles could ba ssen coming out frem hole A when the
submaring was pushed Inlo the waler, [2]

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,510

Correctly answered feedback
The bubbles came our from hole A as the water was entering through hole B, pushing out air
through hole A and occupying the space previously occupied by air

Incorrectly answered feedback
The bubbles came our from hole A as the water was entering through hole B, pushing out air
through hole A and occupying the space previously occupied by air

Qu estion 63 Primary 4 Science » Primary 4 Science (Term 4)

When ihe subrrarine was pushed desper o the water. the oy soldier rose
pnd blocked hole A compleiely: Ayden observed that the watar laved in the
submaning etopped ising.

B Give an explanation for Ayden’s obsenvaton [21

Question Type: Essay

Date Added: Wed 13th Jan 2021
Last Modified: N/A
QID#: 25,849,519

Correctly answered feedback
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As hole A was blocked, air in the submarine is not able to escape so the water is not able to take
over the space taken by the air in the submarine

Incorrectly answered feedback

As hole A was blocked, air in the submarine is not able to escape so the water is not able to take
over the space taken by the air in the submarine
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